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var sum, count, data
sum = @
count = 0

while eofData() ==
data = getDatal()

sum = sum + data

count = count + 1

if count == 10
print(sum / 10)

var data, n, 1
while eofData() ==
#IEESNT= 7 7 ANV ST — X & Hite
data = getDatal()
if data <= 100
print(data)
else

n = | 257 - data

for (1i=0; i<n;|i=1+1

sum = 0 print(0)
count = 0
end end
end end
end
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func putZeros(n) func saveCompressedDatal()
# nfHouEkET 5 0 LTS var length, data
var count, data length = 0
count = n while eofData() ==
while count > 156 # EfE ST RWT — X ZFite
putData(101) data = getData()
count = count - 156 if data ==
end [ length = length + 1|
if count > 0 else
if count ==1 if length > 0
data =(0 | putZeros(length)
else | length = 0 |
data =[257 - count | end
end putData(data)
putData(data) end
end end
end if length > 0
putZeros(length)
end
end
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